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3000m W35 | 34| 1282;aKf HEE B/l 1 13'30704
3000m W45 | 34| 1286|718  EEC FER 1 13'48786
3000m W50 | 31| 796158 &R KFH 1 15'30761
3000m W60 | 31| 42758 & KFH 1 12'40764




3000m W70 34| 980 i VYIF |[LEM 1 1746757

80mH W65 | 34| 317|ElE BF E&h 1 18793| -1.4
FW2000m |W70 | 34| 980/fiH VY I¥F |LBWH 1 1445706 i
E =k W50 | 32| 401|F%& =40 = 1 1m20

E =k W50 | 34| 1294|/7H @EF IN=h] 2 1m10

E =k W50 | 32| 4848FHT X & &k = 3 0m95

EMEBE W45 | 33| 544K EF Bl 1 4m70| +0.8
EMEDk W60 | 34| 972|BR AETF |[LBT 1 3m70 -1.3
EMEDk W60 | 34| 1287| Ll B¥ IN=h] 2 2m86, -1.7
ENEDE W65 | 34| 317|Elg ¥ =N 1 3m42 -0.5
=Rk W45 33| B44|FxW #=EF [F 1 10m1l| £0.0 |FEH
3 A ERBE W45 | 33| b544|KRr EF Bl 1 11mo05 R EF
3 A BBk W60 | 34| 972|BR AETF |[LBT 1 9m36

3 A ER Bk W65 | 34| 317\l ¥ EEH 1 9m21

3R ER Bk W70 | 34| 8645AH 7R |[LBT 1 8m08

IR W50 |34 129474 @HEF INZEH 1 7ml4

A% W65 | 34| 529|#r EET JTHEM 1 6m03

R AL W70 | 34| 344|1EEF HEF BLEM 1 6m76

R W70 | 34| 864|RIH 7-FK |[LBT 2 6m16

Mg W35 | 39| 314|HH# =/ |5xH 1 31m86

Rf::25° W65 | 34| 529|fht EET |THEBES 1 14m18

Rf::25° W70 | 34| 344|1EEF EF BLEM 1 15m28

Rf::25° W70 | 34| 140|LE %F = 2 12m98

S5 W70 | 34| 864|RIH 7-FK |[LBT 3 12m66

R W35 | 39| 314|HH =B |=AT 1 33m44

aelUE;" W50 | 34| 1294|/AH @HBEF IN=T G 1 14m36

) W70 | 34| 140,LE MW®F =] 1 17m74




